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Level 3 Biology, 2015

91603  Demonstrate understanding of the responses of 

plants and animals to their external environment

2.00 p.m. Monday 23 November 2015 

Credits: Five

Achievement Achievement with Merit Achievement with Excellence

Demonstrate understanding of the 
responses of plants and animals to their 
external environment.

Demonstrate in-depth understanding of 
the responses of plants and animals to 
their external environment.

Demonstrate comprehensive 
understanding of the responses of 
plants and animals to their external 
environment.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet and 
clearly number the question.

Check that this booklet has pages 2 – 12 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

Not Achieved

4

No part of the candidate evidence in this exemplar material 

may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.
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exemplar for 

91603 2015  

Total score  04  

Q 
Grade 
score  

Annotation  

1  N1  

This response insufficient evidence towards Achievement. The 

candidate has shown some knowledge with a partial point in 

describing an adaptive advantage of the behaviours. No definitions 

given that are worthy of credit.  

2  N2  

The candidate proides evidence for one point from Achievement in 
providing costs and benefits for two behaviours. Further evidence 

describing at least one behaviour in more detail would be needed for 

further credit towards achievement and the possibility of an A3. 

3  N1  

A very limited answer with credit given for one definition only. A 
partial point for Achievement credit, in this case mutualism is just 

sufficient. The other definitions are incomplete or inaccurate. 

Significant improvement in definitions or a description of the 

differences between the forest would be needed to raise this answer 
to A3 or higher.  

 


